International trade theory
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opening case

[ ntrepreneurial enterprises in the United States invented most of the information
= technology that we use today, including computer and communications hardware,
software, and services. In the 1960s and 1970s, the information technology sector was led
by companies like IBM and DEC, which developed first mainframe and then midrange
computers. In the 1980s, the locus of growth in the sector shifted to personal computers, and the
innovations of companies like Intel, Apple, IBM, Dell, and Compaq helped to develop the mass

market for the product. Along the way, however, something happened to this uniquely American

industry: It started to move the production of hardware offshore.

In the early 1980s, production of “commodity components” for computers such as DRAMs
(memory chips) migrated to low-cost producers in Japan, and then later to Taiwan and Korea.
Soon hard disk drives, display screens, keyboards, computer mice, and a host of other
components were outsourced to foreign manufacturers. By the early 2000s, American
factories were specializing in making only the highest-value components, such as the
microprocessors made by Intel, and in final assembly. (Dell for example, assembles PCs in
two North American facilities.) Just about every other component was made overseas—
because it cost less to do so. There was a lot of hand-wringing among politicians and
journalists about the possible negative implication for the U.S. economy of this trend.
According to the critics, high-paying manufacturing jobs in the information
technology sector were being exported to foreign producers.

Was this trend bad for the U.S. economy, as the critics claimed? The evidence
suggests not. According to recent research, the globalization of production
made information technology hardware about 20 percent less expensive
than it would otherwise have been. The price declines supported additional
investments in information technology by businesses and households.
Because they were getting cheaper, computers diffused throughout
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translated into faster productivity growth as businesses used computers to
streamline processes. Between 1995 and 2002, productivity grew by
2.8 percent annually in the United States, well above the historic norm.
According to recent calculations, some 0.3 percent of this annual growth
could be attributed directly to the reduced prices of information technology
hardware made possible by the move to offshore production. In turn, the
0.3 percent annual gain in productivity over 1995 to 2002 resulted in an
additional $230 billion in accumulated gross domestic product in the United
States. In short, the American economy grew at a faster rate precisely because
production of information technology hardware was shifted to foreigners.
Moreover, there is ample evidence that the reduced price for hardware made
possible by international trade created a boom in jobs in two related industries:
computer software and services. During the 1990s, the number of information
technology jobs in the United States grew by 22 percent, twice the rate of job
creation in the economy as a whole, and this at a time when manufacturing in-
formation technology jobs were moving offshore. The growth could be attrib-
uted partly to robust demand for computer software and services within the
United States and partly to demand for software and services from foreigners,
including those same foreigners who were now making much of the hardware.
In sum, buying computer hardware from foreigners, as opposed to making it in
the United States, had a significant positive impact upon the U.S. economy that
outweighed any adverse effects from job losses in the manufacturing sector.
Sources: C.L.Mann, “Globalization of IT Services and White-Collar Jobs,” /nternational Economic Policy Briefs,
Institute of International Economics, December 2003; A. Bernstein, “Shaking up Trade Theory,” BusinessWeek,
December 8, 2004, pp. 116-20; “Semiconductor Trade: A Wafer Thin Case,” The Economist, July 27, 1996,

pp. 53-54; and K.J. Stiroh, “Information Technology and the U.S. Productivity Revival,” Federal Reserve Bank of
New York, January 2001.




Introduction

Some argue that free trade leads to a migration of jobs overseas and will ultimately create higher unemployment and lower living standards.

Others argue that free trade ultimately benefits all countries that participate in a free trade system. Some individuals loose because of the shift to free trade, but overall the gains outweigh the losses.

An overview of trade theory

Mercantilism

The first theory of international trade, mercantilism, emerged in England in the mid-sixteenth century.

The principal assertion was that gold and silver were the mainstay of national wealth and essential to vigorous commerce. At that time, gold and silver were the currency of trade between countries; a country could earn gold and silver by exporting goods. Conversely, importing goods from other countries would result in an outflow of gold and silver to those countries.

The main tenet of mercantilism was that it was in a country's best interests to maintain a trade surplus, to export more that it imported.

Consistent with this belief, the mercantilist doctrine advocated government intervention to achieve a surplus in the balance of trade. 

They recommended policies to maximize exports and minimize imports. They advocated that the government limit imports by tariffs and quotas while subsidizing exports.

The flaw with mercantilism was that it viewed trade as a zero-sum game. ( a gain by one player results in  a loss by another). 

It was left to Adam Smith and David Ricardo to demonstrate that trade is a positive-sum game, or a situation in which all countries can benefit.

The mercantilist doctrine is by no means dead. Neo-mercantilists  equate political power with economic power and economic power with a balance-of-trade surplus.
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Is China a Neo-Mercantilist Nation?

China’s rapid rise in economic power has been built upon
export-led growth. The country has taken raw material
imports from other countries, and using its cheap labor,
converted them into products that it sells to developed
nations like the United States. For years, the country's
exports have been growing faster than its imports, leading
some critics to claim that China is pursuing a neo-mercantilist
policy, trying to amass record trade surpluses and foreign
currency that will give it economic power over developed
nations. This rhetoric reached new heights in 2005 when
China’s trade surplus hit a record $121 billion and its foreign
exchange reserves topped $800 billion, some 70 percent of
which are held in U.S. dollars. Observers worry that if China
ever decides to sell its holdings of U.S. currency, this could
depress the value of the dollar against other currencies and
increase the price of imports into America.

Throughout 2005, China’s exports grew at twice the rate
of imports, leading some to argue that China was limiting
imports by pursuing an import substitution policy,
encouraging domestic investment in the production of
products like steel, aluminum, and paper, which it had
historically imported from other nations. At the same time,
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China has resisted attempts to let its currency float freely
against the U.S. dollar. Many claim that China's currency is
too cheap, which keeps the prices of China’s goods
artificially low and fuels the country’s exports.

So is China a neo-mercantilist nation that is deliberately
discouraging imports and encouraging exports in order to
grow its trade surplus and accumulate foreign exchange
reserves, which might give it economic power? The jury is
out on this issue. Skeptics suggest that the slowdown in
imports to China is temporary and that the country will
have no choice but to increase its imports of commodities
that it lacks, such as oil. They also note that China did start
allowing the value of the renminbi (China’s currency) to
appreciate against the dollar in July 2005, although the
initial appreciation was limited to just 2.1 percent—hardly
enough say critics. In a sign that pressure on China to
change its ways is growing, in early 2006 the U.S. treasury
secretary renewed calls for the Chinese to allow the
renminbi to continue rising against the U.S. dollar.

Sources: A. Browne, “China’s Wild Swings Can Roil the Global Economy,”
The Wall Street Journal, October 24, 2005, p. A2; S.H. Hanke, “Stop the
Mercantilists,” Forbes, June 20, 2005, p. 164; and G. Dyer and A. Balls,
“Dollar Threat as China Signals Shift,” Financial Times, January 6, 2006, p. 1.





Absolute advantage

In his 1776 landmark book The Wealth Of Nations, Adam smith attacked the mercantilist assumption that trade is a zero-sum game.

Smith argued that countries should specialize in the production of goods for which they have an absolute advantage and then trade these for goods produced by other countries.

A country should never produce goods at home that it can buy at a lower cost from other countries.
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Consider the effects of trade between two countries, Ghana and South Korea. The
production of any good (output) requires resources (inputs) such as land, labor, and
capital. Assume that Ghana and South Korea both have the same amount of resources
and that these resources can be used to produce either rice or cocoa. Assume further
that 200 units of resources are available in each country. Imagine that in Ghana it
rakes 10 resources to produce one ton of cocoa and 20 resources to produce one ton of
rice. Thus, Ghana could produce 20 tons of cocoa and no rice, 10 tons of rice and no
cocoa, or some combination of rice and cocoa between these two extremes. The
iifferent combinations that Ghana could produce are represented by the line GG' in
Figure 5.1. This is referred to as Ghana’s production possibility frontier (PPF).
similarly, imagine that in South Korea it takes 40 resources to produce one ton of
cocoa and 10 resources to produce one ton of rice. Thus, South Korea could produce
5 tons of cocoa and no rice, 20 tons of rice and no cocoa, or some combination
ctween these two extremes. The different combinations available to South Korea
:re represented by the line KK' in Figure 5.1, which is South Korea’s PPFE. Clearly,
shana has an absolute advantage in the production of cocoa. (More resources are
rceded to produce a ton of cocoa in South Korea than in Ghana.) By the same token,
south Korea has an absolute advantage in the production of rice.
Now consider a situation in which neither country trades with any other. Each
untry devotes half of its resources to the production of rice and half to the production
: cocoa. Each country must also consume what it produces. Ghana would be able to
-oduce 10 tons of cocoa and 5 tons of rice (point A in Figure 5.1), while South Korea
uld be able to produce 10 tons of rice and 2.5 tons of cocoa. Without trade, the
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combined production of both countries would be 12.5 tons of cocoa (10 tons in Ghana
plus 2.5 tons in South Korea) and 15 tons of rice (5 tons in Ghana and 10 tons in
South Korea). If each country were to specialize in producing the good for which it had
an absolute advantage and then trade with the other for the good it lacks, Ghana could
produce 20 tons of cocoa, and South Korea could produce 20 tons of rice. Thus, by
specializing, the production of both goods could be increased. Production of cocoa
would increase from 12.5 tons to 20 tons, while production of rice would increase from
15 tons to 20 tons. The increase in production that would result from specialization is
therefore 7.5 tons of cocoa and 5 tons of rice. Table 5.1 summarizes these figures.

By engaging in trade and swapping one ton of cocoa for one ton of rice, producers in
both countries could consume more of both cocoa and rice. Imagine that Ghana and
South Korea swap cocoa and rice on a one-to-one basis; that is, the price of one ton of
cocoa is equal to the price of one ton of rice. If Ghana decided to export 6 tons of cocoa
to South Korea and import 6 tons of rice in return, its final consumption after trade
would be 14 tons of cocoa and 6 tons of rice. This is 4 tons more cocoa than it could have
consumed before specialization and trade and 1 ton more rice. Similarly, South Korea’s
final consumption after trade would be 6 tons of cocoa and 14 tons of rice. This is 3.5 tons
more cocoa than it could have consumed before specialization and trade and 4 tons more
rice. Thus, as a result of specialization and trade, output of both cocoa and rice would be
increased, and consumers in both nations would be able to consume more. Thus, we can
see that trade is a positive-sum game; it produces net gains for all involved.




Comparative advantage

David Ricardo took Adam smith's theory one step further by exploring what might happen when one country has an absolute advantage in the production of all goods.

For Ricardo it makes sense for a country to specialize in the production of those goods that it produces most efficiently and to buy the goods that it produces less efficiently form other countries, even if this means buying goods from other countries that it could produce more efficiently itself.
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Assume that Ghana is more efficient in the production of both cocoa nad rice; that is, Ghana has an absolute advantage in the production of both products. In Ghana it takes 
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takes 10 resources to produce one ton of cocoa and 134 resources to produce one ton of
rice. Thus, given its 200 units of resources, Ghana can produce 20 tons of cocoa and no
rice, 15 tons of rice and no cocoa, or any combination in between on its PPF (the line
GG' in Figure 5.2). In South Korea it takes 40 resources to produce one ton of cocoa
and 20 resources to produce one ton of rice. Thus, South Korea can produce 5 tons of
cocoa and no rice, 10 tons of rice and no cocoa, or any combination on its PPF (the line
KK' in Figure 5.2). Again assume that without trade, each country uses half of its
resources to produce rice and half to produce cocoa. Thus, without trade, Ghana will
produce 10 tons of cocoa and 7.5 tons of rice (point A in Figure 5.2), while South Korea
will produce 2.5 tons of cocoa and 5 tons of rice (point B in Figure 5.2).

In light of Ghana’s absolute advantage in the production of both goods, why should
it trade with South Korea? Although Ghana has an absolute advantage in the
production of both cocoa and rice, it has a comparative advantage only in
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the production of cocoa: Ghana can produce 4 times as much cocoa as South Korea,
but only 1.5 times as much rice. Ghana is comparatively more efficient at producing
cocoa than it is at producing rice.

Without trade the combined production of cocoa will be 12.5 tons (10 tons in
Ghana and 2.5 in South Korea), and the combined production of rice will also be
12.5 tons (7.5 tons in Ghana and 5 tons in South Korea). Without trade, each country
must consume what it produces. By engaging in trade, the two countries can increase
their combined production of rice and cocoa, and consumers in both nations can
consume more of both goods.




[image: image10.jpg]QUALIFICATIONS AND ASSUMPTIONS The conclusion that free trade
is universally beneficial is a rather bold one to draw from such a simple model. Our
simple model includes many unrealistic assumptions:

' We have assumed a simple world in which there are only two countries and two
goods. In the real world, there are many countries and many goods.
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- We have assumed away transportation costs between countries.
- We have assumed away differences in the prices of resources in different

countries. We have said nothing about exchange rates, simply assuming that cocoa
and rice could be swapped on a one-to-one basis.

. We have assumed that resources can move freely from the production of one good

to another within a country. In reality, this is not always the case.

. We have assumed constant returns to scale; that is, that specialization by Ghana or

South Korea has no effect on the amount of resources required to produce one
ton of cocoa or rice. In reality, both diminishing and increasing returns to
specialization exist. The amount of resources required to produce a good might
decrease or increase as a nation specializes in production of that good.

. We have assumed that each country has a fixed stock of resources and that free

trade does not change the efficiency with which a country uses its resources. This
static assumption makes no allowances for the dynamic changes in a country’s
stock of resources and in the efficiency with which the country uses its resources
that might result from free trade.

- We have assumed away the effects of trade on income distribution within a country.
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